
DKT214 Electronic Circuits  Tutorial Solution 

Tutorial 1 
Q4 : 108dB Q5 : 120dB Q6 : 0.3 Q7 : 8.1µA Q8 : 1.6V/µs Q9 : 40µs 
Q11 : B = 9.90 x 10-3, Vf = 49.5mV 
Q12 : Acl(NI) = 374, Vout = 3.74Vrms, Vf = 9.99mVrms  
Q13 : (a)11  (b)101  (c)47.8  (d)23 
Q14 : (a)1  (b)-1  (c)22  (d)-10 
Q15 : (a)455µA (b)455µA (c)-10V  (d)-10 
Q16 : (a) Zin(NI) = 8.41 GΩ (b) Zin(NI) = 6.2 GΩ (c) Zin(NI) = 5.3 GΩ 
  Zout(NI) = 89.2 mΩ  Zout(NI) = 4.04 mΩ  Zout(NI) = 19 mΩ 
 
Tutorial 2 
Q2 : VUTP = 2.77V,  VLTP = -2.77V,  VHTS = 5.54V 
Q3 : VOUT = ±6.55V,  VUTP = +1.15V,  VLTP = -1.15V 
Q4 : VOUT(a) = -2.5V, VOUT(b) = -3.52V 
Q5 : VR1 = 1V, VR2 = 1.8V, If = 127µA,  VOUT = -2.8V,  Rf = 110kΩ 
Q6 : VOUT = -3.57V,  If = 357µA 
Q7 : -4.06mV/µs 
Q8 : ±2.82V 
Q9 :  
 
 
 
 
 
 
Tutorial 3 
Q3 : Av(1) = 51,  Av(2) = 51,  Acl = 101,  Vout = 1.212V 
Q4 : Av = 100, BW approx = 60kHz 
Q5 : Av(tot) = 62.7  Q12 : Vout = -0.150V  Q13 : Vout = -0.157V 
Q14 : Vout = -4.86V 
 
Tutorial 4 

Q5 : ƒ = 7.23kHz,  R1 = 586Ω 
Q6 : C = 234.05 nF,  R1 = 103.36,  R3 = 839Ω 

Q8 : ƒo = 449Hz,  Q = 4.66,  BW = 96.4Hz 
 
Tutorial 5 

Q8 = Rf = 136kΩ,  ƒr = 628Hz 

Q9 = ƒ = 1.61kHz,  change R1 value = 3.54kΩ 
 
Tutorial 6 
Q2 = 0.0333% Q3 = 8.51V  Q4 = Vout decreases by 3.24V 
Q5 = Vout = 9.57V 
 


